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’ 100kN/mM%EBZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —-| 100kN/mM%E#8Z% % - -~ - ~-|3mx#Z5 -~ - - -
zh st -l -~ - -| Zh st -~ - - - zh st - -~ - -| #hList -~ - - -
9 100kN/ Mm% 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%E#8% % - -~ - -|3mx#Z5 -~ - - -
Zh st -l -~ - -| Zh st -~ - - - zh st - -~ - -| #hiist -~ - - -
3 100kN/ Mm% % -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%E#8% % - -~ - ~-|3m&x#Z5 -~ - - -
s 1.00/0.00 ~ 6.14 77.06] =hLls 000 ~ 6.14] 1.89 10.11 s 1.00] 500 ~ 740 77.06) =nLlst | 500 ~ 740 1.89 10.11
4 100kN/ Mm% % -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%E#8% % - -~ - ~-|3m&x#Z5 -~ - - -
s 1.00/0.00 ~ 5.70 71.30] #hLls |0.00 ~ 570 1.96 10.49 s 1.00] 5.00 ~ 7.00 7130 Z=nlst | 500 ~ 7.00f 1.96 10.49
5 100kN/ Mm% % -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%E#8% % - -~ - ~-|3m&x#Z5 -~ - - -
s 1.00/0.00 ~ 6.03 75.56| FhLls 000 ~ 6.03] 1.83 9.80 s 1.00] 5.00 ~ 7.00 75.56| =nLlst | 500 ~ 7.00[ 1.83 9.80
6 100kN/mM%{BZ 5 -l -~ - -|3m%Ei#BZ5 -~ - - —-| 100kN/mM%E#8Z% % - -~ - ~-|3mx#Z5 -~ - - -
s 1.00/0.00 ~ 594 74.36| =hLls 000 ~ 0.00] 1.70 9.12 s 1.00] 500 ~ 6.75 7436 =nLlst | 500 ~ 6.75 1.70 9.12
7 100kN/ Mm% 5 -l -~ - -|3m%Ei#BZ5 -~ - - —| 100kN/mM%E#8% % - -~ - ~-|3m&xHZ5 -~ - - -
L 1.00{0.00 ~ 7.36 93.92| =hLis [0.00 ~ 0.00| 1.71 9.15 L 1.00] 500 ~ 9.59 93.92| =nkst | 500 ~ 959 1.71 9.15
8 100kN/ Mm% X % 1.00]0.00 ~ 1.61 124.57| 3m%EHBZ 5 -~ - - —| 100kN/mM%#BZ % 1.00] 11.13 ~ 18.27 12457|3m%EHBZ5 -~ - - -
ZhLst 1.00{1.61 ~ 9.39 100.00f Zh A4t 1 0.00 ~ 9.39] 2.21 11.82 s 1.00] 500 ~ 11.13 100.00| =nlist | 500 ~ 18.27| 2.21 11.82
9 100kN/ Mm% X % 1.00]0.00 ~ 1.81 127.83| 3m%E#BZ 5 -~ - - —| 100kN/mM%#BZ % 1.00] 10.76 ~ 17.07 127.83| 3m%EH#Z 5 -~ - - -
ZhLst 1.00{1.81 ~ 9.60 100.00f =1 A4t | 0.00 ~ 9.60] 2.50 13.36 zHnLs 1.00] 5.00 ~ 10.76 100.00| =hlist | 500 ~ 17.07| 2.50 13.36
10 100kN/ Mm% X % 1.00{0.00 ~ 1.97 130.37| 3mZE#BZ 5 -~ - - —| 100kN/mM%#BZ % 1.00| 1058 ~ 17.71 130.37| 3m%EHEZ 5 -~ - - -
st 1.00{1.97 ~ 9.75 100.00f Z=hld4t |0.00 ~ 9.75] 243 13.02 zHnLs 1.00] 5.00 ~ 10.58 100.00| =hllst | 500 ~ 17.71] 243 13.02
11 100kN/ Mm% X % 1.00{0.00 ~ 1.00 115.03| 3m%E#BZ 5 -~ - - —| 100kN/mM%#BZ % 1.00] 10.54 ~ 13.54 115.03| 3m%EHEZ 5 -~ - - -
Zh st 1.00{1.00 ~ 8.79 100.00f Zh A4t 1000 ~ 8.79| 2.21 11.82 zHnLs 1.00] 5.00 ~ 10.54 100.00f Znllst | 500 ~ 13.54| 2.21 11.82
12 100kN/ Mm% X % 1.00{0.00 ~ 048 107.04| 3m%E#B 25 -~ - - —| 100kN/mM%#BZ % 1.00| 11.64 ~ 13.41 107.04| 3m%EHEZ 5 -~ - - -
ZhLst 1.00{048 ~ 8.26 100.00f Z=1ld4t | 0.00 ~ 8.26] 1.99 10.64 zHnLs 1.00] 500 ~ 11.64 100.00| =hlist | 500 ~ 1341 1.99 10.64
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ zhs ~ ZhLst ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhs ~ zhs ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zh st ~ zhst ~ zhst ~ st ~
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